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For 36,000 bases, need 90 primers for 1x coverage (1st draft) and 270 primers for 3x coverage (finished).

Have from GenBank-

10 pieces @ 30%= 10,883 bases, calling for 27x2= 54 primers for complementing coverage.

Theory (if continuous sequence)-

36,000-10,883= 25,117 bases, calling for 63x2= 126 primers for complementing coverage.

Practice-

10 pieces @ 30%= 10,883 bases, 80 primers for complementing coverage.
no. 
size 

primers
1.
149 bp

3 primers
2.
2042 bp
12 primers

3.
303 bp

4 primers

4.
548 bp

6 primers

5.
582 bp

6 primers

6. 
3026 bp
18 primers

7.
1110 bp
8 primers

8.
1634 bp
10 primers

9. 1346 bp
10 primers

10.
143 bp

3 primers
